
 PTBPO-INSTALL 06/2024

Bottom Measurements Rear Bracket Measurements
NOTE:  Illustrations for measurement only.

15”

A

B

2”

A

13”

1”

2”

2”

B

  

1-3/16”11/32”

15/16”

1-3/4”

1-5/32”

STEP 1 - Install Base

Remove the base from the unit by releasing the slide clips.  In framed cabinets, center the unit in the opening making sure the front 
plywood runner is pulled tight against the back of the face frame. For frameless cabinets, place the unit within 1-1/2” of the left of the 
cabinet and the front plywood runner needs to be set back 3/4”.  Install with the four (4) #10 x 3/4” Pan Head Wood Screws provided in 
the four pre-drilled holes in the runners.

Face frame

Front plywood
runner

IMPORTANT: 
Before you begin, make sure you familiarize yourself with all the 
parts and fully read the instructions.

CUSTOMER SERVICE: 
Toll-free customer help line available weekdays between 
7:00am and 6:00pm Central Time at 800-463-0660.

TOOLS NECESSARY: 
Screw gun or Phillips screwdriver and tape measure. NOTE: If 
screw gun has a clutch, set to lowest setting so as not to over 
tighten and/or strip screws.

PARTS IDENTIFICATION:  

A Mounting Base 1 pcs
B Base Pullout Unit 1 pcs
C #10 x 3/4” Pan Head Wood Screw 4 pcs
D #8 x 5/8” Pan Head Wood Screw 4 pcs
E #8 x 5/8” Flat Head Wood Screw 4 pcs

Drawer Base Pullout
Installation Instructions

for the DBPO Series

Part # A B

DBPO-5 2-9/16” 2-27/32”

DBPO-8 2-17/32” 1-1/4”

E

D

B

C A
Front plywood runner

DBPO-5

DBPO-5

Pull forward

Pull out

Scan to watch the installation video
http://delivr.com/22TZY

20-7/8”

Bottom of cabinet

DBPO-8

DBPO-8

Scan QR or visit link to 
view installation video

http://delivr.com/2k6hp
Installation Instructions“No Wiggle” Paper 

Towel Pullout

INCLUDED:

Following the instructions included with the drawer 
base pullout (DBPO-8SC), install pullout into full 

height cabinet with at least an 8-1/2”  wide opening.

Remove both metal side rails from 
the top shelf of base pullout by 

pulling upwards on rails. 

Lower paper towel insert into base pullout making sure the 
insert sits flush with the lower unit. (You may have to close the 

pullout a few inches to maneuver the insert into it.)

Insert paper towel roll (not 
provided) onto wooden dowel 
and place dowel into notches. 

Paper Towel Insert

CUSTOMER SERVICE:
Toll-free customer help line 
available weekdays between 
7:00am and 6:00pm Central Time 
at 800-463-0660.


